		TOTAL ADMIS	SSION	IS		FEMALE AD	MISSI	ONS		MINO	RITY ADMI	SSIC	NS	INTER	NAT	IONAL	ADMIS	SIONS
	Appl C	ffer %Offer E	Enroll	%Enroll	Appl (Offer %Offe	r Enro	II %Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl Of	fer	%Offer	Enroll	%Enroll
Arts and Sciences - Arts																		
Art History	68	16 23.5%	6	37.5%	58	13 22.4	% 4	30.8%	5	1	20.0%	0	0.0%	4	0	0.0%	0	
Digital Arts and Experimental Media	43	1 2.3%	1	100.0%	12	1 8.3	% 1	100.0%	2	1	50.0%	1	100.0%	13	0	0.0%	0	
Drama	18	1 5.6%	1	100.0%	9	1 11.19	% 1	100.0%	3	1	33.3%	1	100.0%	1	0	0.0%	0	
Drama (Acting)	64	9 14.1%	8	88.9%	42	5 11.9	% 4	80.0%	8	3	37.5%	3	100.0%	2	0	0.0%	0	
Drama (Design - Costume)	7	3 42.9%	2	66.7%	6	2 33.3	% 2	100.0%	0	0		0		0	0		0	
Drama (Design - Lighting)	6	4 66.7%	3	75.0%	5	3 60.0	% 3	100.0%	0	0		0		0	0		0	
Drama (Design - Scenery)	4	2 50.0%	2	100.0%	1	0 0.0	% C)	0	0		0		0	0		0	
Interdisciplinary Visual Arts	315	34 10.8%	16	47.1%	195	13 6.79	% 7	53.8%	38	0	0.0%	0		32	3	9.4%	2	66.7%
Music	197	1 0.5%	0	0.0%	125	1 0.89	% C	0.0%	17	0	0.0%	0		62	1	1.6%	0	0.0%
Music (Brass)	8	8 100.0%	6	75.0%	1	1 100.09	% 1	100.0%	0	0		0		1	1	100.0%	0	0.0%
Music (Choral Conducting)	15	11 73.3%	8	72.7%	5	4 80.09	% 3	75.0%	1	1	100.0%	1	100.0%	2	2	100.0%	2	100.0%
Music (Composition)	5	5 100.0%	3	60.0%	2	2 100.09	% C	0.0%	0	0		0		2	2	100.0%	2	100.0%
Music (Education)	6	5 83.3%	2	40.0%	4	4 100.09	% 1	25.0%	0	0		0		1	0	0.0%	0	
Music (Ethnomusicology)	10	10 100.0%	3	30.0%	4	4 100.09	% 2	50.0%	3	3	100.0%	1	33.3%	0	0		0	
Music (Harp)	1	1 100.0%	0	0.0%	1	1 100.09	% C	0.0%	0	0		0		0	0		0	
Music (Instrumental Conducting)	2	1 50.0%	1	100.0%	0	0	C)	0	0		0		0	0		0	
Music (Organ)	5	5 100.0%	2	40.0%	3	3 100.09	% 1	33.3%	0	0		0		0	0		0	
Music (Percussion)	3	3 100.0%	2	66.7%	2	2 100.09	% 2	100.0%	1	1	100.0%	1	100.0%	0	0		0	
Music (Piano)	18	15 83.3%	4	26.7%	14	11 78.69	% 3	27.3%	3	3	100.0%	1	33.3%	6	4	66.7%	2	50.0%
Music (Strings)	4	4 100.0%	2	50.0%	3	3 100.09	% 1	33.3%	1	1	100.0%	0	0.0%	2	2	100.0%	1	50.0%
Music (Theory)	6	6 100.0%	1	16.7%	1	1 100.09	% C	0.0%	1	1	100.0%	0	0.0%	0	0		0	
Music (Voice)	11	10 90.9%	7	70.0%	6	5 83.3	% 5	100.0%	2	2	100.0%	1	50.0%	0	0		0	
Music (Woodwinds)	5	4 80.0%	0	0.0%	5	4 80.0	% C	0.0%	0	0		0		1	1	100.0%	0	0.0%
Music History	7	6 85.7%	2	33.3%	6	5 83.3	% 2	40.0%	0	0		0		0	0		0	
Subtotal	828	165 19.9%	82	49.7%	510	89 17.5	% 43	48.3%	85	18	21.2%	10	55.6%	129	16	12.4%	9	56.3%

	TOTAL ADMISSIONS					F	FEMA	LE ADN	IISSIOI	NS		MINO	RITY ADM	IISSIC)NS	INT	ERNA	TIONAL	ADMIS	SIONS
	Appl C	Offer	%Offer	Enroll	%Enroll	Appl C	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer	Enroll	%Enroll
Arts and Sciences - Humanities																				
Asian Languages and Literature	68	24	35.3%	11	45.8%	37	12	32.4%	6	50.0%	9	3	33.3%	2	66.7%	32		28.1%	5	55.6%
Classics	75	17	22.7%	3	17.6%	42	11	26.2%	1	9.1%	9	3	33.3%	1	33.3%	6	5 2	33.3%	5 1	50.0%
Comparative Literature	61	8	13.1%	7	87.5%	41	7	17.1%	6	85.7%	2	0	0.0%	0		18	. 4	22.2%	5 4	100.0%
Computational Linguistics	47	40	85.1%	31	77.5%	17	14	82.4%	9	64.3%	11	8	72.7%	7	87.5%	5	5 5	100.0%	3	60.0%
English	506	35	6.9%	12	34.3%	306	26	8.5%	11	42.3%	44	6	13.6%	1	16.7%	22	: 5	22.7%	2	40.0%
English (Creative Writing)	249	46	18.5%	14	30.4%	142	35	24.6%	11	31.4%	27	3	11.1%	2	66.7%	3	3 (0.0%	0	
English (English as 2nd Language)	37	20	54.1%	11	55.0%	28	16	57.1%	8	50.0%	9	5	55.6%	3	60.0%	14	. 5	35.7%	5 1	20.0%
French Studies	20	7	35.0%	3	42.9%	15	6	40.0%	3	50.0%	2	1	50.0%	0	0.0%	3	3 (0.0%	0	
Germanics	23	22	95.7%	4	18.2%	13	12	92.3%	4	33.3%	2	2	100.0%	0	0.0%	8	3 7	87.5%	3	42.9%
Hispanic Studies	19	8	42.1%	7	87.5%	10	4	40.0%	4	100.0%	6	3	50.0%	3	100.0%	5	5 3	60.0%	2	66.7%
Italian Studies	4	4	100.0%	2	50.0%	3	3	100.0%	1	33.3%	0	0		0		2	2	100.0%	5 1	50.0%
Linguistics	69	18	26.1%	9	50.0%	39	8	20.5%	4	50.0%	9	3	33.3%	2	66.7%	19) 4	21.1%	3	75.0%
Near Eastern Languages & Civilization	34	0	0.0%	0		16	0	0.0%	0		5	0	0.0%	0		5	5 (0.0%	0	
Scandinavian (Languages & Literatures)	8	3	37.5%	2	66.7%	5	2	40.0%	2	100.0%	0	0		0		2	2 (0.0%	0	
Slavic Languages and Literatures	12	5	41.7%	3	60.0%	9	2	22.2%	1	50.0%	1	0	0.0%	0		4	2	50.0%	5 1	50.0%
Subtotal	1232	257	20.9%	119	46.3%	723	158	21.9%	71	44.9%	136	37	27.2%	21	56.8%	148	48	32.4%	26	54.2%

		TOTAL ADMISSIONS					FEMA	LE ADN	IISSIOI	NS		MINO	RITY ADMI	SSIC	NS	INTE	RNA	TIONAL .	ADMIS	SIONS
	Appl C	Offer	%Offer I	Enroll	%Enroll	Appl C	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl (Offer	%Offer	Enroll	%Enroll
Arts and Sciences - Sciences																				
Applied Mathematics	146	87	59.6%	29	33.3%	46	29	63.0%	9	31.0%	21	14	66.7%	4	28.6%	43	16	37.2%	9	56.3%
Astronomy	90	21	23.3%	8	38.1%	40	12	30.0%	6	50.0%	12	3	25.0%	2	66.7%	11	4	36.4%	1	25.0%
Audiology	81	47	58.0%	12	25.5%	60	34	56.7%	9	26.5%	16	6	37.5%	3	50.0%	3	1	33.3%	0	0.0%
Biology	219	26	11.9%	13	50.0%	124	20	16.1%	10	50.0%	38	10	26.3%	4	40.0%	14	0	0.0%	0	
Botany	1	0	0.0%	0		1	0	0.0%	0		0	0		0		1	0	0.0%	0	
Chemistry	378	95	25.1%	31	32.6%	160	47	29.4%	19	40.4%	48	9	18.8%	3	33.3%	115	3	2.6%	3	100.0%
Chemistry (Nanotechnology)	1	1	100.0%	0	0.0%	1	1	100.0%	0	0.0%	0	0		0		0	0		0	
Mathematics	309	44	14.2%	16	36.4%	76	12	15.8%	3	25.0%	35	5	14.3%	2	40.0%	80	14	17.5%	6	42.9%
Medical Speech-Language Pathology	67	34	50.7%	15	44.1%	64	33	51.6%	15	45.5%	13	6	46.2%	2	33.3%	0	0		0	
Physics	348	92	26.4%	23	25.0%	62	14	22.6%	1	7.1%	25	3	12.0%	2	66.7%	84	16	19.0%	7	43.8%
Psychology	713	27	3.8%	14	51.9%	520	18	3.5%	6	33.3%	142	10	7.0%	8	80.0%	98	3	3.1%	2	66.7%
Speech and Hearing Sciences	127	54	42.5%	27	50.0%	117	51	43.6%	24	47.1%	19	6	31.6%	5	83.3%	7	3	42.9%	3	100.0%
Statistics	236	42	17.8%	16	38.1%	102	10	9.8%	5	50.0%	31	8	25.8%	1	12.5%	143	12	8.4%	2	16.7%
Zoology	7	1	14.3%	1	100.0%	4	0	0.0%	0		0	0		0		2	0	0.0%	0	
Subtotal	2723	571	21.0%	205	35.9%	1377	281	20.4%	107	38.1%	400	80	20.0%	36	45.0%	601	72	12.0%	33	45.8%

		TOTAL ADMISSIONS of Offer %Offer Enroll %En			IS		FEMA	LE ADM	ISSIOI	NS	N	MINOF	RITY ADMI	SSIC	NS	INTER	NAT	IONAL A	ADMIS	SIONS
	Appl (Offer '	%Offer I	Enroll	%Enroll	Appl C	Offer	%Offer	Enroll	%Enroll	Appl (Offer	%Offer E	nroll	%Enroll	Appl Of	fer '	%Offer	Enroll	%Enroll
Arts and Sciences - Social Sci																				
Anthropology	155	29	18.7%	11	37.9%	111	20	18.0%	8	40.0%	23	4	17.4%	2	50.0%	29	5	17.2%	2	40.0%
Communication	119	15	12.6%	12	80.0%	78	11	14.1%	9	81.8%	17	7	41.2%	6	85.7%	14	0	0.0%	0	
Communication (Digital Media)	94	48	51.1%	54	112.5%	64	34	53.1%	38	111.8%	16	5	31.3%	6	120.0%	17	8	47.1%	7	87.5%
Comparative Religion	31	15	48.4%	5	33.3%	18	10	55.6%	3	30.0%	3	2	66.7%	1	50.0%	1	0	0.0%	0	
Economics	227	63	27.8%	35	55.6%	83	28	33.7%	14	50.0%	20	9	45.0%	3	33.3%	125	26	20.8%	18	69.2%
Geography	115	15	13.0%	7	46.7%	64	8	12.5%	5	62.5%	9	3	33.3%	1	33.3%	25	2	8.0%	1	50.0%
History	146	15	10.3%	6	40.0%	64	9	14.1%	2	22.2%	15	4	26.7%	1	25.0%	19	1	5.3%	0	0.0%
International Studies	85	32	37.6%	10	31.3%	49	17	34.7%	3	17.6%	17	8	47.1%	1	12.5%	16	3	18.8%	1	33.3%
International Studies (China)	41	25	61.0%	8	32.0%	15	10	66.7%	2	20.0%	5	4	80.0%	1	25.0%	8	4	50.0%	1	25.0%
International Studies (Japan)	24	20	83.3%	10	50.0%	11	9	81.8%	5	55.6%	5	5	100.0%	2	40.0%	2	1	50.0%	1	100.0%
International Studies (Korea)	15	10	66.7%	4	40.0%	5	2	40.0%	2	100.0%	5	3	60.0%	3	100.0%	6	3	50.0%	1	33.3%
International Studies(Rus, E.E.,&C.Asia)	32	27	84.4%	8	29.6%	13	11	84.6%	3	27.3%	5	5	100.0%	1	20.0%	1	0	0.0%	0	
International Studies: Middle East	63	17	27.0%	4	23.5%	34	9	26.5%	4	44.4%	7	1	14.3%	0	0.0%	7	0	0.0%	0	
International Studies: South Asia	18	12	66.7%	3	25.0%	12	8	66.7%	2	25.0%	5	2	40.0%	0	0.0%	1	0	0.0%	0	
International Studies: Southeast Asia	7	2	28.6%	0	0.0%	2	0	0.0%	0		0	0		0		2	0	0.0%	0	
Philosophy	113	11	9.7%	2	18.2%	37	3	8.1%	1	33.3%	12	2	16.7%	1	50.0%	9	1	11.1%	0	0.0%
Political Science	209	32	15.3%	8	25.0%	91	17	18.7%	7	41.2%	16	2	12.5%	0	0.0%	65	6	9.2%	4	66.7%
Sociology	144	41	28.5%	9	22.0%	79	22	27.8%	3	13.6%	29	9	31.0%	2	22.2%	16	3	18.8%	2	66.7%
Women Studies	35	2	5.7%	2	100.0%	31	2	6.5%	2	100.0%	9	1	11.1%	1	100.0%	4	0	0.0%	0	
Subtotal	1673	431	25.8%	198	45.9%	861	230	26.7%	113	49.1%	218	76	34.9%	32	42.1%	367	63	17.2%	38	60.3%

		тот	AL ADMI	SSION	IS		FEMA	LE ADN	IISSIO	NS		MINO	RITY ADMI	SSIC	NS	INTERN	ATIONAL	. ADMIS	SIONS
	Appl C	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl Offe	r %Offe	Enroll	%Enroll
Bothell Campus																			
Bothell - Cultural Studies	36	23	63.9%	20	87.0%	24	14	58.3%	13	92.9%	7	5	71.4%	5	100.0%	5	2 40.09	6 2	100.0%
Business Admin: Leadership (Bothell)	71	44	62.0%	33	75.0%	30	13	43.3%	9	69.2%	26	15	57.7%	12	80.0%	6	3 50.09	6 1	33.3%
Business Admin: Technology (Bothell)	63	46	73.0%	35	76.1%	19	12	63.2%	7	58.3%	13	6	46.2%	4	66.7%	12	8 66.79	6 1	12.5%
Computing & Software Systems	42	32	76.2%	27	84.4%	9	4	44.4%	3	75.0%	15	14	93.3%	13	92.9%	6	2 33.39	6 1	50.0%
Education (Bothell Campus)	29	23	79.3%	22	95.7%	22	18	81.8%	17	94.4%	3	1	33.3%	1	100.0%	0	0	0	
Education: Secondary Endorsement (Bothl)	49	36	73.5%	32	88.9%	29	18	62.1%	17	94.4%	12	8	66.7%	5	62.5%	0	0	0	
Nursing (Bothell Campus)	45	28	62.2%	27	96.4%	40	24	60.0%	23	95.8%	9	4	44.4%	4	100.0%	3	1 33.39	6 1	100.0%
Policy Studies (Bothell Campus)	38	28	73.7%	21	75.0%	21	15	71.4%	12	80.0%	10	7	70.0%	5	71.4%	1	0 0.0	6 0	
Subtotal	373	260	69.7%	217	83.5%	194	118	60.8%	101	85.6%	95	60	63.2%	49	81.7%	33	16 48.59	6	37.5%
Built Environments																			
Architecture	493	123	24.9%	48	39.0%	224	52	23.2%	21	40.4%	85	28	32.9%	11	39.3%	69	14 20.39	6 5	35.7%
Architecture History and Theory	5	2	40.0%	1	50.0%	4	2	50.0%	1	50.0%	0	0		0		1	1 100.09	6 0	0.0%
BUILT ENVIRONMENT	36	8	22.2%	6	75.0%	17	6	35.3%	5	83.3%	3	1	33.3%	0	0.0%	17	2 11.89	6 1	50.0%
Construction Management	6	4	66.7%	3	75.0%	3	2	66.7%	1	50.0%	2	0	0.0%	0		1	1 100.09	6 0	0.0%
Construction Management, Evening Deg Prog	64	45	70.3%	24	53.3%	13	11	84.6%	5	45.5%	5	3	60.0%	3	100.0%	39	26 66.79	6 8	30.8%
Landscape Architecture	133	32	24.1%	13	40.6%	75	26	34.7%	10	38.5%	13	4	30.8%	1	25.0%	30	4 13.39	6 2	50.0%
Real Estate	29	20	69.0%	15	75.0%	9	6	66.7%	5	83.3%	3	3	100.0%	2	66.7%	11	7 63.69	6 4	57.1%
Strategic Planning for Critical Infrastr	18	1	5.6%	1	100.0%	5	0	0.0%	0		1	0	0.0%	0		2	0 0.0	6 0	
Urban Design & Planning	217	90	41.5%	28	31.1%	107	49	45.8%	15	30.6%	30	12	40.0%	3	25.0%	22	6 27.39	6 4	66.7%
Subtotal	1001	325	32.5%	139	42.8%	457	154	33.7%	63	40.9%	142	51	35.9%	20	39.2%	192	61 31.89	6 24	39.3%

		TOTA	L ADMIS	SSION	ıs	I	FEMA	LE ADM	ISSIOI	NS		MINOF	RITY ADMI	SSIO	NS	INTER	NAT	IONAL A	ADMIS	SIONS
	Appl C	Offer '	%Offer I	Enroll	%Enroll	Appl C	Offer '	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl Of	fer	%Offer	Enroll	%Enroll
Business School																				
Accounting (Auditing & Assurance)	115	53	46.1%	45	84.9%	68	23	33.8%	21	91.3%	29	18	62.1%	17	94.4%	38	2	5.3%	2	100.0%
Accounting (Taxation)	98	50	51.0%	43	86.0%	53	23	43.4%	19	82.6%	22	13	59.1%	10	76.9%	24	1	4.2%	1	100.0%
Business Administration	1144	217	19.0%	118	54.4%	462	79	17.1%	47	59.5%	143	33	23.1%	23	69.7%	573	49	8.6%	21	42.9%
Business Administration (Executive)	97	84	86.6%	57	67.9%	22	18	81.8%	12	66.7%	22	19	86.4%	11	57.9%	5	3	60.0%	3	100.0%
Business, Evening Degree Program (MBA)	166	110	66.3%	93	84.5%	44	28	63.6%	25	89.3%	55	31	56.4%	29	93.5%	21	18	85.7%	12	66.7%
Technology Management MBA	39	39	100.0%	0	0.0%	8	8	100.0%	0	0.0%	13	13	100.0%	0	0.0%	5	5	100.0%	0	0.0%
Visiting Graduate (MBA)	1	0	0.0%	0		1	0	0.0%	0		0	0		0		0	0		0	
Subtotal	1660	553	33.3%	356	64.4%	658	179	27.2%	124	69.3%	284	127	44.7%	90	70.9%	666	78	11.7%	39	50.0%
Dentistry, School of																				
Dentistry Concurrent Degree Program	1	1	100.0%	0	0.0%	1	1	100.0%	0	0.0%	0	0		0		0	0		0	
Oral Biology	14	5	35.7%	2	40.0%	10	3	30.0%	1	33.3%	1	1	100.0%	0	0.0%	11	4	36.4%	2	50.0%
Subtotal	15	6	40.0%	2	33.3%	11	4	36.4%	1	25.0%	1	1	100.0%	0	0.0%	11	4	36.4%	2	50.0%
Education, College of																				
Education (Curriculum & Instruction)	153	92	60.1%	54	58.7%	119	71	59.7%	38	53.5%	26	18	69.2%	8	44.4%	20	5	25.0%	2	40.0%
Education (Educ Leadership & Policy Std)	122	77	63.1%	42	54.5%	71	49	69.0%	22	44.9%	36	23	63.9%	11	47.8%	9	5	55.6%	3	60.0%
Education (Human Development&Cognition)	37	20	54.1%	9	45.0%	30	17	56.7%	7	41.2%	10	8	80.0%	4	50.0%	5	2	40.0%	0	0.0%
Education (Instructional Leadership)	4	0	0.0%	0		2	0	0.0%	0		0	0		0		0	0		0	
Education (Learning Sciences)	48	32	66.7%	12	37.5%	32	23	71.9%	10	43.5%	10	7	70.0%	0	0.0%	4	1	25.0%	0	0.0%
Education (Measure, Stat, Research Des)	7	3	42.9%	3	100.0%	3	1	33.3%	1	100.0%	1	0	0.0%	0		1	0	0.0%	0	
Education (School Psychology)	67	25	37.3%	13	52.0%	63	24	38.1%	11	45.8%	11	4	36.4%	1	25.0%	2	1	50.0%	1	100.0%
Education (Special Education)	110	81	73.6%	63	77.8%	89	65	73.0%	49	75.4%	13	9	69.2%	7	77.8%	12	4	33.3%	3	75.0%
Education (Teacher Preparation)	20	12	60.0%	10	83.3%	20	12	60.0%	10	83.3%	4	3	75.0%	3	100.0%	1	0	0.0%	0	
Subtotal	568	342	60.2%	206	60.2%	429	262	61.1%	148	56.5%	111	72	64.9%	34	47.2%	54	18	33.3%	9	50.0%

		TOTA	L ADMI	SSION	IS		FEMA	LE ADN	IISSIO	NS		MINOF	RITY ADMI	SSIC	NS	INTE	RNAT	IONAL	ADMIS	SIONS
	Appl C	Offer '	%Offer I	Enroll	%Enroll	Appl (Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl C	ffer	%Offer	Enroll	%Enroll
Engineering, College of																				
Aeronautics & Astronautics	116	55	47.4%	24	43.6%	27	17	63.0%	6	35.3%	15	8	53.3%	2	25.0%	33	8	24.2%	6	75.0%
Aeronautics & Astronautics (Televised)	20	13	65.0%	9	69.2%	3	2	66.7%	1	50.0%	5	4	80.0%	4	100.0%	0	0		0	
Aerospace Engineering	24	8	33.3%	1	12.5%	4	2	50.0%	0	0.0%	6	1	16.7%	0	0.0%	1	0	0.0%	0	
Aerospace Engr (Comp Materials&Structs)	2	0	0.0%	1		0	0		0		0	0		0		0	0		0	
Chemical Engineering	208	49	23.6%	14	28.6%	77	17	22.1%	7	41.2%	29	9	31.0%	0	0.0%	96	9	9.4%	3	33.3%
Civil Engineering	361	171	47.4%	78	45.6%	114	61	53.5%	21	34.4%	47	29	61.7%	14	48.3%	159	26	16.4%	12	46.2%
Civil Engineering (GTTL)	1	1	100.0%	0	0.0%	0	0		0		0	0		0		0	0		0	
Computer Science & Engineering	1132	74	6.5%	35	47.3%	210	17	8.1%	8	47.1%	94	8	8.5%	1	12.5%	737	27	3.7%	11	40.7%
Computer Science & Engineering (BS/MS)	11	6	54.5%	8	133.3%	3	3	100.0%	3	100.0%	4	2	50.0%	3	150.0%	0	0		0	
Computer Science & Engineering, Evening	67	36	53.7%	33	91.7%	10	6	60.0%	5	83.3%	14	6	42.9%	6	100.0%	19	11	57.9%	9	81.8%
Electrical Engineering	775	182	23.5%	99	54.4%	136	29	21.3%	16	55.2%	86	35	40.7%	21	60.0%	552	61	11.1%	32	52.5%
Engineering (Chemical Engineering)	5	0	0.0%	0		1	0	0.0%	0		2	0	0.0%	0		3	0	0.0%	0	
Engineering (Civil Engineering)	40	29	72.5%	11	37.9%	17	12	70.6%	5	41.7%	7	5	71.4%	2	40.0%	6	2	33.3%	2	100.0%
Engineering (Inter Engineering)	3	3	100.0%	3	100.0%	1	1	100.0%	1	100.0%	2	2	100.0%	2	100.0%	0	0		0	
Engineering (Mechanical Engineering)	2	1	50.0%	1	100.0%	0	0		0		0	0		0		0	0		0	
Engineering (Mechanigal Engineering)	34	19	55.9%	10	52.6%	8	5	62.5%	3	60.0%	5	3	60.0%	1	33.3%	9	1	11.1%	1	100.0%
Human Centered Design & Engineering(Eve)	19	16	84.2%	15	93.8%	8	7	87.5%	6	85.7%	6	4	66.7%	4	100.0%	0	0		0	
Human Centered Design and Engineering	6	3	50.0%	8	266.7%	2	1	50.0%	4	400.0%	1	1	100.0%	2	200.0%	1	0	0.0%	0	
Human Ctr Des&Engr: User-Centered Design	1	1	100.0%	3	300.0%	0	0		2		0	0		0		0	0		0	
Industrial Engineering	188	43	22.9%	13	30.2%	78	17	21.8%	7	41.2%	11	7	63.6%	1	14.3%	158	27	17.1%	8	29.6%
Materials Science & Engr(Materials Engr)	230	17	7.4%	8	47.1%	65	4	6.2%	3	75.0%	16	2	12.5%	0	0.0%	167	2	1.2%	2	100.0%
Mechanical Engineering	199	121	60.8%	44	36.4%	32	20	62.5%	4	20.0%	32	24	75.0%	4	16.7%	68	26	38.2%	12	46.2%
Technical Communication	56	21	37.5%	6	28.6%	33	16	48.5%	5	31.3%	6	4	66.7%	0	0.0%	16	1	6.3%	0	0.0%
Subtotal	3500	869	24.8%	424	48.8%	829	237	28.6%	107	45.1%	388	154	39.7%	67	43.5%	2025	201	9.9%	98	48.8%

	TOTAL ADMISSIONS						EMA	LE ADM	IISSIOI	NS		MINOF	RITY ADM	ISSIO	NS	INTER	RNAT	IONAL .	ADMIS	SIONS
	Appl C	Offer	%Offer	Enroll	%Enroll	Appl C	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl O	ffer	%Offer	Enroll	%Enroll
Environment, College of																				
Atmospheric Sciences	113	27	23.9%	10	37.0%	49	12	24.5%	6	50.0%	13	3	23.1%	1	33.3%	32	5	15.6%	2	40.0%
Earth and Space Sciences	150	42	28.0%	17	40.5%	78	26	33.3%	9	34.6%	18	7	38.9%	2	28.6%	21	2	9.5%	2	100.0%
Forest Res (Environmental Horticulture)	8	5	62.5%	5	100.0%	3	2	66.7%	2	100.0%	1	1	100.0%	1	100.0%	0	0		0	
Forest Resources	173	75	43.4%	43	57.3%	96	36	37.5%	20	55.6%	16	8	50.0%	5	62.5%	30	10	33.3%	6	60.0%
School of Marine Affairs	65	48	73.8%	27	56.3%	35	27	77.1%	16	59.3%	5	2	40.0%	0	0.0%	6	1	16.7%	1	100.0%
Subtotal	509	197	38.7%	102	51.8%	261	103	39.5%	53	51.5%	53	21	39.6%	9	42.9%	89	18	20.2%	11	61.1%
Information School																				
Information Management	180	125	69.4%	66	52.8%	76	47	61.8%	28	59.6%	23	13	56.5%	10	76.9%	109	74	67.9%	33	44.6%
Information Science	71	14	19.7%	10	71.4%	41	6	14.6%	4	66.7%	15	5	33.3%	4	80.0%	29	1	3.4%	0	0.0%
Libr & Info Science (Law Librarianship)	12	12	100.0%	7	58.3%	9	9	100.0%	4	44.4%	4	4	100.0%	2	50.0%	0	0		0	
Library & Information Science	331	95	28.7%	60	63.2%	247	73	29.6%	42	57.5%	37	10	27.0%	3	30.0%	3	1	33.3%	0	0.0%
Library & Information Science (DL)	143	127	88.8%	74	58.3%	119	105	88.2%	61	58.1%	24	24	100.0%	11	45.8%	0	0		0	
Subtotal	737	373	50.6%	217	58.2%	492	240	48.8%	139	57.9%	103	56	54.4%	30	53.6%	141	76	53.9%	33	43.4%

		TOTAL ADMI	SSION			FEMA	LE ADM	IISSIOI	NS		MINO	RITY ADMI	SSIC	NS -	INTER	NAT	TIONAL A	ADMIS	SIONS
	Appl C	Offer %Offer I	Enroll	%Enroll	Appl (Offer '	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl Of	fer	%Offer	Enroll	%Enroll
Interdisciplinary Graduate Programs																			
Biology Teaching	1	1 100.0%	1	100.0%	1	1	100.0%	1	100.0%	0	0		0		0	0		0	
Biomolecular Structure and Design	65	14 21.5%	4	28.6%	18	4	22.2%	0	0.0%	2	0	0.0%	0		27	3	11.1%	3	100.0%
Graduate Visiting	68	54 79.4%	49	90.7%	23	19	82.6%	19	100.0%	1	1	100.0%	1	100.0%	61	48	78.7%	45	93.8%
Health Administration Group	154	88 57.1%	60	68.2%	74	41	55.4%	33	80.5%	43	29	67.4%	22	75.9%	22	3	13.6%	2	66.7%
Individual PhD	4	2 50.0%	1	50.0%	0	0		0		0	0		0		0	0		0	
Molecular and Cellular Biology	371	51 13.7%	22	43.1%	223	29	13.0%	8	27.6%	94	16	17.0%	7	43.8%	61	6	9.8%	3	50.0%
Museology	134	57 42.5%	32	56.1%	122	50	41.0%	27	54.0%	14	8	57.1%	5	62.5%	5	1	20.0%	1	100.0%
Near & Middle Eastern Studies	21	3 14.3%	2	66.7%	9	3	33.3%	2	66.7%	0	0		0		8	1	12.5%	1	100.0%
Neurobiology & Behavior	158	25 15.8%	7	28.0%	84	17	20.2%	5	29.4%	24	6	25.0%	3	50.0%	15	2	13.3%	0	0.0%
Nutritional Science	70	14 20.0%	2	14.3%	65	12	18.5%	2	16.7%	14	3	21.4%	0	0.0%	14	0	0.0%	0	
Pathobiology	52	9 17.3%	5	55.6%	34	8	23.5%	5	62.5%	16	4	25.0%	2	50.0%	8	0	0.0%	0	
Public Health Genetics	17	6 35.3%	3	50.0%	12	5	41.7%	3	60.0%	5	4	80.0%	3	75.0%	4	0	0.0%	0	
Quantitative Ecology & Resource Mgmt	21	7 33.3%	4	57.1%	10	3	30.0%	3	100.0%	2	1	50.0%	1	100.0%	7	1	14.3%	0	0.0%
Special Program Graduate Student	10	10 100.0%	10	100.0%	5	5	100.0%	5	100.0%	0	0		0		10	10	100.0%	10	100.0%
Urban Design & Planning	63	7 11.1%	4	57.1%	28	5	17.9%	2	40.0%	3	2	66.7%	1	50.0%	45	2	4.4%	2	100.0%
Subtotal	1209	348 28.8%	206	59.2%	708	202	28.5%	115	56.9%	218	74	33.9%	45	60.8%	287	77	26.8%	67	87.0%
Interschool or Intercollege Programs																			
Bioengineering	332	42 12.7%	11	26.2%	126	19	15.1%	5	26.3%	85	14	16.5%	2	14.3%	111	8	7.2%	3	37.5%
Bioengineering (BS/MS Program)	1	1 100.0%	1	100.0%	0	0		0		1	1	100.0%	1	100.0%	0	0		0	
Global Health: General Track	138	22 15.9%	10	45.5%	113	15	13.3%	7	46.7%	24	4	16.7%	3	75.0%	24	11	45.8%	7	63.6%
Global Health: Peace Corps Masters Intl	60	4 6.7%	3	75.0%	47	3	6.4%	2	66.7%	10	0	0.0%	0		0	0		0	
International Studies/Public Affairs	3	2 66.7%	4	200.0%	3	2	66.7%	2	100.0%	0	0		0		0	0		0	
Medical Engineering	3	3 100.0%	2	66.7%	1	1	100.0%	0	0.0%	2	2	100.0%	1	50.0%	0	0		0	
Public Affairs/Forest Resources	3	3 100.0%	4	133.3%	1	1	100.0%	2	200.0%	0	0		0		0	0		0	
Social Work/Public Health	1	1 100.0%	1	100.0%	1	1	100.0%	1	100.0%	1	1	100.0%	0	0.0%	0	0		0	
Urban Planning/Public Administration	4	4 100.0%	3	75.0%	3	3	100.0%	2	66.7%	0	0		0		0	0		0	
Subtotal	545	82 15.0%	39	47.6%	295	45	15.3%	21	46.7%	123	22	17.9%	7	31.8%	135	19	14.1%	10	52.6%

		TOTA	L ADMIS	SSION	IS		FEMA	LE ADN	IISSIOI	NS		MINOF	RITY ADMI	SSIC	NS	INTE	RNAT	IONAL A	ADMIS	SIONS
	Appl C	Offer	%Offer E	Enroll	%Enroll	Appl	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl C	ffer	%Offer	Enroll	%Enroll
Law, School of																				
Law	150	77	51.3%	32	41.6%	61	30	49.2%	14	46.7%	5	2	40.0%	1	50.0%	134	69	51.5%	27	39.1%
Law (Intellectual Property)	117	53	45.3%	33	62.3%	66	25	37.9%	17	68.0%	9	7	77.8%	6	85.7%	96	38	39.6%	21	55.3%
Law (Taxation)	137	97	70.8%	47	48.5%	52	41	78.8%	20	48.8%	23	18	78.3%	8	44.4%	16	3	18.8%	2	66.7%
Law Concurrent Degree Program	2	2	100.0%	9	450.0%	1	1	100.0%	5	500.0%	0	0		3		0	0		0	
Law: Health Law	20	17	85.0%	11	64.7%	14	11	78.6%	8	72.7%	1	0	0.0%	0		5	4	80.0%	2	50.0%
Subtotal	426	246	57.7%	132	53.7%	194	108	55.7%	64	59.3%	38	27	71.1%	18	66.7%	251	114	45.4%	52	45.6%
Medicine, School of																				
Biochemistry	67	14	20.9%	4	28.6%	28	5	17.9%	2	40.0%	7	3	42.9%	1	33.3%	10	1	10.0%	1	100.0%
Bioethics and Humanities	4	4	100.0%	4	100.0%	4	4	100.0%	4	100.0%	0	0		0		0	0		0	
Biomedical and Health Informatics	45	14	31.1%	10	71.4%	17	4	23.5%	1	25.0%	8	2	25.0%	2	100.0%	25	5	20.0%	3	60.0%
Comparative Medicine	1	1	100.0%	0	0.0%	1	1	100.0%	0	0.0%	1	1	100.0%	0	0.0%	0	0		0	
Genome Sciences	140	26	18.6%	10	38.5%	71	14	19.7%	6	42.9%	25	6	24.0%	1	16.7%	43	2	4.7%	1	50.0%
Immunology	85	16	18.8%	7	43.8%	42	8	19.0%	3	37.5%	18	4	22.2%	2	50.0%	12	0	0.0%	0	
Laboratory Medicine	4	3	75.0%	2	66.7%	3	2	66.7%	2	100.0%	1	1	100.0%	1	100.0%	1	0	0.0%	0	
Medical History & Ethics	2	0	0.0%	0		1	0	0.0%	0		0	0		0		0	0		0	
Medicine Concurrent Degree Program	5	4	80.0%	1	25.0%	5	4	80.0%	1	25.0%	2	2	100.0%	0	0.0%	0	0		0	
Microbiology (Medicine)	147	14	9.5%	5	35.7%	78	11	14.1%	4	36.4%	33	7	21.2%	1	14.3%	39	0	0.0%	0	
Pathology	24	6	25.0%	4	66.7%	11	1	9.1%	0	0.0%	4	1	25.0%	1	100.0%	6	0	0.0%	0	
Pharmacology	77	14	18.2%	6	42.9%	36	7	19.4%	2	28.6%	20	5	25.0%	1	20.0%	19	0	0.0%	0	
Physiology & Biophysics	60	10	16.7%	1	10.0%	21	2	9.5%	0	0.0%	9	1	11.1%	0	0.0%	21	1	4.8%	0	0.0%
Rehabilitation Med (Physical Therapy)	464	65	14.0%	32	49.2%	337	50	14.8%	23	46.0%	90	7	7.8%	3	42.9%	0	0		0	
Rehabilitation Med(Occupational Therapy)	86	39	45.3%	26	66.7%	80	36	45.0%	24	66.7%	10	4	40.0%	2	50.0%	4	0	0.0%	0	
Rehabilitation Science	1	0	0.0%	0		1	0	0.0%	0		0	0		0		1	0	0.0%	0	
Subtotal	1212	230	19.0%	112	48.7%	736	149	20.2%	72	48.3%	228	44	19.3%	15	34.1%	181	9	5.0%	5	55.6%

	Т	OTAL ADMIS	SSION	IS		FEMA	LE ADN	IISSIOI	NS		MINOF	RITY ADM	ISSIC	NS	INTERNA	TIONAL	ADMIS	SIONS
	Appl Of	fer %Offer I	Enroll	%Enroll	Appl (Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	Enroll	%Enroll	Appl Offer	%Offer	Enroll	%Enroll
Nursing, School of																		
Adv Practice Nurs (Adult Clin Nurs Spec)	1	0 0.0%	0		0	0		0		0	0		0		0	0	0	
Adv Practice Nurs (Adult Nurse Pract)	3	0 0.0%	0		3	0	0.0%	0		1	0	0.0%	0		0	0	0	
Adv Practice Nurs (Adult Psy Ment Hlth)	2	1 50.0%	0	0.0%	1	0	0.0%	0		0	0		0		0	0	0	
Adv Practice Nurs (Environmental Health)	1	0 0.0%	0		1	0	0.0%	0		0	0		0		0	0	0	
Adv Practice Nurs (Forencsic Nurse Spec)	1	0 0.0%	0		0	0		0		0	0		0		0	0	0	
Adv Practice Nurs (Infant Mental Health)	13	4 30.8%	2	50.0%	12	4	33.3%	2	50.0%	2	1	50.0%	1	100.0%	0	0	0	
Adv Practice Nurs (Nurse Educator)	3	3 100.0%	3	100.0%	3	3	100.0%	3	100.0%	0	0		0		0	0	0	
Adv Practice Nurs (Nurse Midwifery)	3	2 66.7%	2	100.0%	3	2	66.7%	2	100.0%	0	0		0		0	0	0	
Graduate Entry Program Nursing MN Goal	1	0 0.0%	0		1	0	0.0%	0		1	0	0.0%	0		0	0	0	
Nursing	58	32 55.2%	19	59.4%	49	30	61.2%	18	60.0%	17	6	35.3%	3	50.0%	7	5 71.4%	3	60.0%
Nursing (Adult AP Forensic Nurse Spec)	1	0 0.0%	0		0	0		0		0	0		0		0	0	0	
Nursing (Adult NP Acute Care)	1	0 0.0%	1		1	0	0.0%	1		0	0		0		0	0	0	
Nursing (Adult NP Infectious Disease)	1	1 100.0%	1	100.0%	1	1	100.0%	1	100.0%	0	0		0		0	0	0	
Nursing (Adult NP Rural Adult)	1	1 100.0%	2	200.0%	1	1	100.0%	2	200.0%	0	0		0		1	1 100.0%	2	200.0%
Nursing (AP Comm Health Systems)	6	5 83.3%	6	120.0%	6	5	83.3%	6	120.0%	0	0		1		0	0	0	
Nursing (AP Occ & Env Health)	1	1 100.0%	1	100.0%	1	1	100.0%	1	100.0%	0	0		0		0	0	0	
Nursing (Clinical Nurse Leader)	3	1 33.3%	1	100.0%	2	1	50.0%	1	100.0%	0	0		0		1	0.0%	0	
Nursing (Clinical Nurse Specialist)	1	1 100.0%	0	0.0%	1	1	100.0%	0	0.0%	1	1	100.0%	0	0.0%	0	0	0	
Nursing (Family Nurse Practitioner)	4	2 50.0%	0	0.0%	4	2	50.0%	0	0.0%	2	1	50.0%	0	0.0%	0	0	0	
Nursing (Individual Master of Nursing)	2	2 100.0%	1	50.0%	2	2	100.0%	1	50.0%	0	0		0		0	0	0	
Nursing (Midwifery)	12	4 33.3%	7	175.0%	12	4	33.3%	7	175.0%	0	0		0		0	0	0	
Nursing (Neonatal Clinical Nurse Spec)	4	3 75.0%	3	100.0%	4	3	75.0%	3	100.0%	0	0		0		0	0	0	
Nursing (Neonatal Nurse Practitioner)	7	4 57.1%	7	175.0%	7	4	57.1%	7	175.0%	2	1	50.0%	1	100.0%	0	0	0	
Nursing (Pediatric Nurse Practitioner)	4	4 100.0%	4	100.0%	4	4	100.0%	4	100.0%	1	1	100.0%	1	100.0%	0	0	0	
Nursing (Perinatal Nurse Spec)	4	3 75.0%	2	66.7%	4	3	75.0%	2	66.7%	1	1	100.0%	0	0.0%	1	0.0%	0	
Nursing (Psychiatric Ment Hlth NP)	8	8 100.0%	7	87.5%	6	6	100.0%	5	83.3%	2	2	100.0%	2	100.0%	1	1 100.0%	0	0.0%
Nursing (Womens Healthcare NP)	1	0 0.0%	1		1	0	0.0%	1		1	0	0.0%	1		0	0	0	
Nursing Practice	143	10 7.0%	9	90.0%	123	9	7.3%	7	77.8%	44	2	4.5%	4	200.0%	4	1 25.0%	0	0.0%
Subtotal	290	92 31.7%	79	85.9%	253	86	34.0%	74	86.0%	75	16	21.3%	14	87.5%	15	8 53.3%	5	62.5%

		TOT	AL ADMI	SSION	ıs		FEMA	LE ADN	IISSIOI	NS		MINOF	RITY ADMI	SSIO	NS	INTERN	IAT	IONAL	ADMIS	SIONS
	Appl	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl Offe	er (%Offer	Enroll	%Enroll
Ocean and Fishery Sciences, College	of																			
Aquatic and Fishery Sciences	129	17	13.2%	17	100.0%	75	10	13.3%	10	100.0%	8	0	0.0%	0		8	0	0.0%	0	
Oceanography	123	23	18.7%	11	47.8%	74	16	21.6%	7	43.8%	6	0	0.0%	0		35	1	2.9%	0	0.0%
Subtotal	252	40	15.9%	28	70.0%	149	26	17.4%	17	65.4%	14	0	0.0%	0		43	1	2.3%	0	0.0%
Pharmacy, School of																				
Biomedical Regulatory Affairs	37	28	75.7%	22	78.6%	26	18	69.2%	16	88.9%	14	11	78.6%	10	90.9%	5	2	40.0%	2	100.0%
Medicinal Chemistry	54	3	5.6%	2	66.7%	27	2	7.4%	1	50.0%	6	1	16.7%	1	100.0%	34	0	0.0%	0	
Pharmaceutics	58	5 5	8.6%	4	80.0%	39	3	7.7%	3	100.0%	11	3	27.3%	3	100.0%	40	0	0.0%	0	
Pharmacy	29) 4	13.8%	4	100.0%	16	1	6.3%	1	100.0%	7	3	42.9%	3	100.0%	19	0	0.0%	0	
Pharmacy Concurrent Degree Program	1	C	0.0%	0		1	0	0.0%	0		0	0		0		0	0		0	
Subtotal	179	40	22.3%	32	80.0%	109	24	22.0%	21	87.5%	38	18	47.4%	17	94.4%	98	2	2.0%	2	100.0%
Public Affairs, Evans School of																				
Public Administration	2	. 1	50.0%	1	100.0%	0	0		0		0	0		0		0	0		0	
Public Administration (Executive)	60	43	71.7%	35	81.4%	26	19	73.1%	16	84.2%	15	12	80.0%	10	83.3%	7	2	28.6%	1	50.0%
Public Affairs	484	289	59.7%	131	45.3%	318	174	54.7%	74	42.5%	86	44	51.2%	21	47.7%	69	26	37.7%	9	34.6%
Public Affairs (Peace Corps Masters Int)	45	29	64.4%	12	41.4%	35	21	60.0%	9	42.9%	6	4	66.7%	3	75.0%	0	0		0	
Public Policy and Management	37	7	18.9%	3	42.9%	22	4	18.2%	3	75.0%	3	0	0.0%	0		17	1	5.9%	0	0.0%
Subtotal	628	369	58.8%	182	49.3%	401	218	54.4%	102	46.8%	110	60	54.5%	34	56.7%	93	29	31.2%	10	34.5%

		IS	FEMALE ADMISSIONS						RITY ADMI	NS	INTERNATIONAL ADMISSIONS									
	Appl C	Offer of	%Offer I	Enroll	%Enroll	Appl C	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer E	nroll	%Enroll	Appl Of	fer	%Offer	Enroll	%Enroll
Public Health																				
Biostatistics	187	37	19.8%	20	54.1%	101	19	18.8%	11	57.9%	31	6	19.4%	3	50.0%	111	10	9.0%	5	50.0%
Env Hlth - Env & Occupational Hygiene	15	1	6.7%	1	100.0%	11	1	9.1%	1	100.0%	2	0	0.0%	0		5	0	0.0%	0	
Env Hlth: Occup & Envir Exposure Science	18	15	83.3%	8	53.3%	12	11	91.7%	5	45.5%	4	4	100.0%	0	0.0%	3	1	33.3%	1	100.0%
Environmental & Occupational Health	24	3	12.5%	2	66.7%	16	3	18.8%	2	66.7%	9	2	22.2%	1	50.0%	5	0	0.0%	0	
Environmental Health	31	7	22.6%	3	42.9%	22	6	27.3%	3	50.0%	8	1	12.5%	0	0.0%	8	1	12.5%	0	0.0%
Environmental Health-Envrnmtl Toxicology	26	9	34.6%	6	66.7%	16	5	31.3%	3	60.0%	6	3	50.0%	3	100.0%	8	0	0.0%	0	
Epidemiology	205	99	48.3%	49	49.5%	149	74	49.7%	37	50.0%	51	19	37.3%	7	36.8%	28	11	39.3%	5	45.5%
Epidemiology - International Health	17	8	47.1%	7	87.5%	13	6	46.2%	5	83.3%	3	1	33.3%	0	0.0%	9	5	55.6%	5	100.0%
Epidemiology - Maternal & Child Health	4	3	75.0%	2	66.7%	4	3	75.0%	2	66.7%	2	1	50.0%	1	100.0%	0	0		0	
Epidemiology: Clinical Research	8	3	37.5%	1	33.3%	2	1	50.0%	0	0.0%	2	1	50.0%	0	0.0%	2	0	0.0%	0	
Genetic Epidemiology	17	8	47.1%	3	37.5%	11	6	54.5%	2	33.3%	4	2	50.0%	0	0.0%	5	2	40.0%	0	0.0%
Health Services	72	14	19.4%	5	35.7%	57	12	21.1%	2	16.7%	21	3	14.3%	1	33.3%	17	1	5.9%	1	100.0%
Health Services - Community Practice	93	20	21.5%	12	60.0%	82	16	19.5%	11	68.8%	23	6	26.1%	2	33.3%	1	0	0.0%	0	
Health Services - Maternal&Child Health	26	8	30.8%	5	62.5%	26	8	30.8%	5	62.5%	6	0	0.0%	1		0	0		0	
Health Services (Extended Degree)	15	6	40.0%	5	83.3%	15	6	40.0%	5	83.3%	4	2	50.0%	1	50.0%	1	1	100.0%	1	100.0%
Health Services-Health Care&Pop Hlth Res	15	5	33.3%	3	60.0%	13	4	30.8%	3	75.0%	1	1	100.0%	1	100.0%	1	0	0.0%	0	
Health Services-Health Pol Anlys & Proc	46	14	30.4%	4	28.6%	35	14	40.0%	4	28.6%	13	1	7.7%	1	100.0%	7	0	0.0%	0	
Health Services-Social & Behavioral Sci	68	33	48.5%	5	15.2%	64	31	48.4%	5	16.1%	17	9	52.9%	0	0.0%	0	0		0	
Public Health Genetics	32	10	31.3%	6	60.0%	26	9	34.6%	6	66.7%	10	1	10.0%	0	0.0%	2	0	0.0%	0	
Public Health Nutrition	32	13	40.6%	5	38.5%	28	11	39.3%	3	27.3%	8	2	25.0%	1	50.0%	2	1	50.0%	0	0.0%
Subtotal	951	316	33.2%	152	48.1%	703	246	35.0%	115	46.7%	225	65	28.9%	23	35.4%	215	33	15.3%	18	54.5%
Social Work, School of																				
Social Welfare	61	11	18.0%	7	63.6%	42	8	19.0%	6	75.0%	17	3	17.6%	3	100.0%	15	2	13.3%	1	50.0%
Social Work	502	153	30.5%	89	58.2%	427	126		73	57.9%	136	62	45.6%	37	59.7%	24		20.8%		60.0%
Social Work: Adv Generalist Practice	115	108	93.9%	74	68.5%	96	92		59	64.1%	32	28	87.5%	22	78.6%	3	1		0	0.0%
Subtotal	678	272	40.1%	170	62.5%	565	226		138	61.1%	185	93	50.3%	62	66.7%	42	8		4	50.0%

		AL ADM	IS	FEMALE ADMISSIONS					MINORITY ADMISSIONS						INTERNATIONAL ADMISSIONS					
	Appl	Offer	%Offer	Enroll	%Enroll	Appl (Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer	Enroll	%Enroll	Appl	Offer	%Offer	Enroll	%Enroll
Tacoma Campus																				
Computing & Software Systems	30	22	73.3%	15	68.2%	10	9	90.0%	6	66.7%	5	4	80.0%	4	100.0%	14	10	71.4%	4	40.0%
Education (Tacoma Campus)	36	27	75.0%	26	96.3%	28	21	75.0%	21	100.0%	5	3	60.0%	2	66.7%	0	0		0	
Interdisciplinary Studies	25	19	76.0%	17	89.5%	14	14	100.0%	12	85.7%	8	4	50.0%	4	100.0%	0	0		0	
Nursing (Tacoma Campus)	38	28	73.7%	25	89.3%	32	25	78.1%	22	88.0%	11	7	63.6%	7	100.0%	0	0		0	
Social Work - Advanced Standing (Tacoma)	1	0	0.0%	0		1	0	0.0%	0		0	0		0		0	0		0	
Social Work (Tacoma Campus)	141	63	44.7%	41	65.1%	119	57	47.9%	38	66.7%	39	18	46.2%	15	83.3%	1	0	0.0%	0	
UW Tacoma Master of Business Admin	31	21	67.7%	18	85.7%	9	5	55.6%	5	100.0%	2	1	50.0%	1	100.0%	0	0		0	
Subtotal	302	180	59.6%	142	78.9%	213	131	61.5%	104	79.4%	70	37	52.9%	33	89.2%	15	10	66.7%	4	40.0%
Total for University	21491	6564	30.5%	3541	53.9%	11128	3516	31.6%	1913	54.4%	3340	1209	36.2%	666	55.1%	5831	981	16.8%	505	51.5%